
subtract predicted profiles from perturbed profiles to find torque
and ankle angle reaction to pertubation, Tp and θp respectively
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use models to predict torque and ankle angle
profiles from data leading up to perturbation
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predictions of varying length can
be done by the same model

average of perturbed profiles minus average of unperturbed profiles gives
us ankle angle and torque reaction to perturbation, θp and Tp respectively

= Tp-

- = θp

Tp = Itotθp + baθp + kpθp

.. .

θp and Tp allows us to solve this 2nd order differential
equation to find damping ba and stiffness kp
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